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7 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - -| 100kN/mM#%#8% % - ~ -|3mEi#BZ B ~ -
Fhst 1.00 | 000 ~ 480 59.79 | #Fn | 000 ~ 480 | 2.04 10.31 Fhst 1.00 | 5.00 ~ 6.00 59.79 | #nSt | 500 ~ 6.00| 2.04 10.51
2 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B ~
Fhst 1.00 | 000 ~ 461 57.54 | #FnS | 000 ~ 461|229 11.57 Fhst 100|500 ~ 778 57.64 | #nS | 500 ~ 7.78| 229 11.57
3 100kN/m%E#B 2% - -~ - -|3mEBZB| 000 ~ 005 3.05 15.44 | 100kN/m%E#B2 % ~ -|3mE#B=B| 1000 ~ 1083| 3.05 156.44
Fhst 100|000 ~ 470 5860 | #nst | 005 ~ 470 | 3.00 15,16 Fhst 1.00 | 500 ~ 1083 5860 | #nst | 5,00 ~ 1000| 3.00 15.16
4 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B ~
Fhst 100|000 ~ 572 71.51 | #hs | 000 ~ 572|279 14.11 Fhst 1.00 | 5.00 ~ 1009 71.51 | TnLSY | 6,00 ~ 10.09)| 2.79 14.11
5 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B ~
Fhst 100|000 ~ 702 89.12 | #FhSt | 000 ~ 702|262 13.25 Fhst 1.00 | 5.00 ~ 1149 89.12 | #nS | 5,00 ~ 11.49| 2.62 13.25
P 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B ~
Fhst 100|000 ~ 703 89.22 | #FnS | 000 ~ 703|262 13.24 Fhst 1.00 | 5.00 ~ 1149 89.22 | =S | 5,00 ~ 11.49| 2.62 13.24
- 100kN/mM%E#BZ 5 - -~ - -|3mZE#BAS| 000 ~ 0.01| 3.01 15.21 | 100kN/m#Z#B 2% ~ -|3m%i#BzB| 1000 ~ 11.72| 3.01 15621
Fhst 100|000 ~ 519 64.71 | FhLS | 0.01 ~ 519 5.00 15,16 Fhst 1.00 | 5.00 ~ 1172 64.71 | FnLSY | 6,00 ~ 1000 5.00 15.16
P 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B ~
Fhst 1.00 | 000 ~ 588 73.53 | FhLS | 0.00 ~ 588)| 2.88 14.55 Fhst 1.00 | 500 ~ 1180 73.63 | #nhst | 600 ~ 11.80| 2.88 14.56
9 100kN/m%E#B 2% - -~ - -|3mEBZB| 000 ~ 0.05)| 3.05 15.43 | 100kN/m%#B 2% ~ -|3mxE#B=B| 1000 ~ 11.87| 3.05 156.43
Fhst 1.00 | 000 ~ 501 62.43 | FnLS | 0.05 ~ 501 8.00 15,16 Fhst 1.00 | 5.00 ~ 1187 62.43 | FnLSY | 6,00 ~ 1000 5.00 15.16
10 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM%#8% % ~ -|3mEi#BZ B ~
Fhst 1.00 | 000 ~ 599 75.10 | FhLS | 0.00 ~ 599 2.87 14.50 Fhst 1.00 | 500 ~ 1200 75.10 | FnLSY | 5,00 ~ 1200| 2.87 14.50
100kN/ Mm% 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMEBZD ~
Fhst ~ ZFhst ~ Fhst ~ ZhLst ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ IMEBZD ~
Fhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/mM%E#BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMEBZD ~
Fhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ IMEBZD ~
Fhst ~ ZFhst ~ Fhst ~ ZzhLst ~
100kN/mM%E{BZ 5 ~ 3ImEEBAD ~ 100kN/m#%#B% % ~ IMEBZD ~
Fhst ~ FhLst ~ ZFhLst ~ ZzhLst ~




